Names  _______________________________________
Quiz - November 1, 2007
Here is a SNOBOL PROGRAM

	
	Line #
	

	        &TRIM       = 1
	1
	

	  
  A

  = ARRAY(INPUT)
	2
	

	
  I           = 1
	3
	

	READ    A<I>
  = INPUT
   :F(PRINT)
	4
	

	        I 
        = I + 1      :(READ)
	5
	

	PRINT   I           = I - 1     
	6
	

	        OUTPUT      = A<I>       :S(PRINT)
	7
	

	END
	8
	


1. What is the purpose of line #1?

	


2. How does the program know how big the array is?

	


3. What does the program do?  (Think about what the assignment that caused this to be written is)

	


